DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION

Name:

Time: Score:

51 52.626 + (—0.6) =
512 —430.16 + (—=8) =
713 —8908.2 + (—9) =
1) =59 + 0.8 =

515) —0.5826 + 0.02 =
510 3.573 <+ 0.06 =

5 —4514.4 - 0.6 =
w8 427.35 + (=0.7) =
519 —3.368 = (—0.04) =
200 —186.88 + 0.2 =
21 —1526.4 + 0.2 =
22 171.66 + 2 =

523) 5.392 +— 0.08 =

240 155.02 +9 =

) —2.7 0.0 =

Mathematics: Division - Level 6 - Horizontal - Set 1

19

526)

527)

528)

529)

530)

531)

532)

533)

534)

535)

536)

537)

538)

539)

540)

176.32 0.8 =
—14.452 =+ (—0.4) =

4.6404 = 0.06 =

—16.048 + (—0.2) =
—6500.7 + (—0.9) =
—2108.5 + 0.5 =
15442 + 2 =
—57.08 + (—0.04) =
—85.32 + (—0.1) =
—1886 + 2 =
—157+1=

58208 = 8 =
—229+1=
—9.424 + (—0.1) =
5.8 = (—0.08) =
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